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Directions (Qs. 1-5): In each of the 
following sentences, one word is 
underlined. From the four choices 
given, choose a word that is opposite 
in meaning to the underlined word, 
and write the number of your choice 
in your answer sheet. 
 
1. It was a frugal meat, but very 
nourishing.  
 
1. generous   2. miserly 
 
3. lavish  4. charitable 
 
 
2. The audience applauded with 
genuine enthusiasm 
 
1. imitation   2. insincere 
 
3. dishonest  4. in correct 
 
3. There is abundant evidence to 
convict the man. 
 
1. unclear   2. adequate 
 
3. infertile  4. Insufficient 
 
4. Her reasons for breaking the 
engagement were transparent. 
 
1. vague   2. opaque  
 
3. dull    4. Clouded 
 
5. The state's unwise policies 
inhibited economic growth.  
 
1. discarded  2. activated 
 

3. increased  4. neglected. 
 
Directions (Qs. 6-10): Fill in the 
blanks in each of the following 
Sentences, choosing one of the 
words given. Write the numbers of 
your choice in your answer sheet.  
 
6. She's an old friend; I've known her 
__________ many years. 
 
1. since   2. from  
 
3. during   4. for 
 
7. My sister-in-law is a teacher. She 
teaches English in _____ university 
in France. 
 
1. a    2. An 
 
3. the    4. one 
 
8. If you have trouble in going To 
sleep, try ______ a glass of milk 
before bed time.  
 
1. to drink   2. drink 
 
3. drinking  4. for drinking 
 
9. Are you sure you can finish the 
entire job _______ Saturday.  
 
1. by    2. till 
 
3. until   4. for 
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10. I wish I ____ more time to take a 
decision. 
 
1. will have   2. have 
 
3. had   4. am having 
 
Directions (Qs. 11-15): A part of each 
of the following sentences is 
underlined. From the four choice 
given, Chose a word which can 
replace this part write the number of 
your choice in your answer sheet. 
 
11. I have a cousin who lives the life 
of a person who makes use of others 
but gives nothing in return. 
 
1. dependent  2. parasite  
 
3. supporter   4. alave 
 
12. This man is a famous person who 
makes beautiful figures by carving 
stone.  
 
1. sculpture  2. mason  
 
3. architect   4. sculptor 
 
13. Her handwriting was of such a 
nature that no one was able to read it 
easily.  
 
1. illegible  2. inaudible 
 
3. illegal   4. illegitimate 
 
 
 

14. The service that my aunt offers to 
the local hospital is given willingly 
and without any payment. 
 
1. compulsory  2. honorary 
 
3. voluntary  4. exemplary 
 
15. He is a famous person who 
makes a scientific study of the sun, 
moon, stars, planets, etc. 
 
1. astronomer  2. astronaut 
 
3. astrologer   4. Geologist 
 
Directions (Qs. 16-20): Read the 
following passage and choose the best 
ending for each of a statement given 
below it. Write the number of your 
choice in your answer - sheet.  
 

It was a cold Christmas Eve. 
Last-minute shoppers were hurrying 
home. Ray, the old, deaf owner of the 
old clock shop was getting ready to 
close his shop when two last minute 
shoppers walked in. But Ray's old, wise 
eyes told him that these were not 
shoppers. One of the men was in his 
twenties, the other closer to fifty. The 
younger man remained at the door. As 
the older man approached the counter 
Ray slowly pushed a notepak and pencil 
across the counter. 
 
He smiled at the unfriendly face, then 
pointed to his ears and shook his head 
from side to side. A quick look of 
surprise changed the man's face as he 
studied the notepad, then turned and 
said something to his friend. 
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Ray used the chance to look closely at 
the man, paying attention to the shape 
of a gun and a restless hand in the 
mans right coat pocket. Anger boiled 
within him, but it was kept down by an 
inner voice that said, "Be still". He wrote 
on the notepad, "May I help you?" For 
the first time the older man looked 
directly at Ray and smiled. A cruel 
smile. They both understood why he 
was there, why his friend remained at 
the door. They looked like working 
 
men, down on their luck. Perhaps they 
were out of work, and were now ready 
to try something they would later be 
sorry about. Ray calmly wrote anther 
message. "Have you come 
 
to pick up a clock or watch? Then he 
pointed to the loan' board filled with 
hanging clocks and pocket watches. He 
was not a pawnbroker, but at the same 
time couldn't say "No" to the needy 
people who placed their old watches or 
 
clocks before him for anything they 
could get. The man took out his hand 
from his pocket and quickly looked at 
the watch on his wrist. "How much will 
you give me for his?" The man wrote. 
 
Ray noticed a little shame in the grey 
eyes looking at him. Ray asked, "How 
much do you need for it?" The reply 
came back on the notepad, "What ever 
it's worth." 
 
Ray reached into his cashbox, pulled 
out a 50 dollar note and pressed it into 
the man's hand, As they shook hands, 
Ray looked into the man's eyes; they 

seemed to say, "Thank you!" They both 
knew the watch wasn't worth that much. 
Before turning to leave, the man wrote," 
Merry Christmas!" 
 
16. What did Ray think the men had 
come to his shop for? 
 
1. to kill him   
 
2. to rob him 
 
3. to borrow money from him. 
 
4. to take back a watch they had 
pawned earlier 
 
17. Why did Ray push a notepad and 
pencil across the counter to the older 
man? 
 
1. The man had asked Ray for a 
notepad to write a message.  
 
2. Ray wanted give to give it to the 
younger man at the door.  
 
3. Ray was deaf and wanted the man to 
write his message.  
 
4. Ray wanted to study the man closely 
while he wrote a message. 
 
18. Why did Ray remain still, 
although anger boiled within him?  
 
1. He realised that one of the men 
carried a gun, and that they could kill 
him 
 
2. The two men had come to his shop 
earlier and Ray knew them.  
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3. Ray was brave man, though old, and 
not afraid at all  
 
4. Ray's wise eyes had judged them as 
harmless people. 
 
19. Ray gave the man 50 dollars for 
his watch. Which of the following 
statements is true? 
 
1. The owner of the watch thought it was 
less than the price of the watch. 
 
2. Ray knew it was the exact cost of the 
watch.  
 
3. Ray had no idea how much the watch 
was worth. 
 
4. Ray knew it was more than what the 
watch was worth. 
 
20. The two men had come into rob 
Ray; but what happened in the end. 
 
1. They went away because they were 
afraid to rob him.  
 
2. Both sides pretended that the men 
had come to borrow money against the 
deposit of a watch.  
 
3. They did not want to harm a deaf old 
man. 
 
4. They decided to come back and rob 
him another day. 
 
Directions (Qs. 21-25): In each of the 
following sentences, the underlined 
part needs to be improved. Four 
possible ways of the writing the part 

are given. Choose the best way and 
write its number in your answer-
sheet.  
 
21. She met future husband when she 
had been studying in the States. 
 
1. studied  2. had studied 
 
3. would study  4. was studying  
 
22. My grand mother is very old; still 
she enjoys to travel.  
 
1. travelling  2. the travelling 
 
3. travels  4. to travelling 
 
23. Have you seen Anand last week?  
 
1. were you seeing     2. you saw 
 
3. did you see   4. you have seen 
 
24. Have you been often to Europe on 
business?  
 
1. you often have been  
 
2. have you often been 
 
3. you have been often  
 
4. have often you been 
 
25. You haven't met my cousin, 
haven't you? 
 
1. have you not?  2. you have?  
 
3. isn't it?  4. have you? 
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26. Select the word that belongs to 
the given class of words.  
Papaya, Apple, Guava 
 
1. Pear   2. Potato  
 
3. Brinjal  4. Pumpkin 
 
27. What will the 7th number in the 
following sequence?  
3, 6, 12, 24, ____ 
 
1.96   2. 144 
 
3. 192   4.288 
 
Directions (28-30): Consider the 
following information and answer 
questions based on it: 
 

Five items - turmeric, chilly, salt, 
sugar and pepper are kept in five 
bottles, from left to right, in a row, in 
random order. 
 
1. The bottle in the middle contains 
neither pep per and chilly 
 
2. The last but one bottle does not 
contain sugar, turmeric or chilly 
 
3. The bottle in the extreme left contains 
neither chilly nor sugar  
 
4. The second bottle from the left 
contains salt 
 
28. The first bottle contains 
 
1. Pepper  2. Chilly 
 
3. Sugar  4. Turmeric 

29. Sugar is in the bottle from the left.  
 
1. first   2. third  
 
3. fourth   4. fifth 
 
30. The bottle on the extreme right 
contains.  
 
1. Chilly   2. Pepper 
 
3. Sugar  4. Turmeric 
 
(31-33): Select the related word from 
the given alternatives. 
 
31. Magazine: Editor :: Drama : ?  
 
1. Director    2. Hero  
 
3. Heroine    4. Painter 
 
32. ACEG: IKMO :: QSUW:7 
 
1. YZCE   2. YACD  
 
3. YACE   4. YBCE 
 
 
 
33. 12:39:: 15:7 
 
1.48   2.52 
 
3.39   4.51 
 
34. DCB, HGF, ?, PON  
 
1. LKJ   2. QRO  
 
3. SUM  4. XZY 
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35. If S-19, SUN-54 and CAKE -20, 
MISTAKE =? 
 
1.78    2.68 
 
3.59   4.48  
 
36. Consider the given statement(s) 
to be true and decide which of the 
given conclusions / assumptions can 
definitely be drawn from the given 
statements. 
 
Statements: 
 
1. All books are novels  
 
2. Some novels are poems 
 
Conclusions: 
 
I. Some books are poems 
 
II. Some poems are novels  
 
1. Only conclusion I follows 
 
2. Only conclusion II follows 
 
3. Neither conclusion I nor conclusion II 
follows 
 
4. Both conclusion I and conclusion II 
follow 
 
 
37. From the given answer figures , 
select the one in he question figure 
select the one in which the question 
figure is hidden/ embedded . 
 
 

 
 
38. A number is greater than 3 but 
less than 8. Also it is greater than 6 
but less than 10. The number is  
 
1.6   2.7 
 
3.8   4.9 
 
39. Introducing a man, a woman says, 
"His wife is the only daughter of my 
father." How is that man related to 
the woman? 
 
1. Brother   2. Father-in-law 
 
3. Maternal uncle  4. Husband  
 
40. FP 89 and GN= 91, then PB = ? 
 
1.27    2.37 
 
3.25   4.31 
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41. Five boys A, B, C, D and E are 
standing in a row. A is between C and 
D, and B is between D and E. Which 
of the following pairs represents the 
boys standing in both the ends?  
 
1. C, B   2. E, C 
 
3. E, A  4. A, C 
 
42. Polio: Virus: Anthrax: ? 
 
1 Fungus    2 Bacteria  
 
3. Virus    4 Insect 324 
 
43. 13:169 :: ?: 
 
1. 22: 480   2.6: 121  
 
3 21:421   4 18:324 
 
44. 6:10: 9:? 
 
1. 10    2. 12  
 
3. 15   4 18 
 
45. a-cdab-d-bcdabc  
 
1.bbca  2 bcad  
 
3. aacc   4.bacd 
 
 
46. If + means /,- means +, X, means,-
,+ means x then (15 x 9)÷(12-4)+(4/4) 
equals: 
 
1.96    2.6  
 
3 3/128  4.1.2 

47. On July 2nd 1985, it was 
Wednesday. The day of the week on 
July 2nd, 1984 was: 
 
1. Monday   2. Tuesday 
 
3. Wednesday 4. Saturday 
 
48. How many integars from 1 to 100 
exist such that each is divisible by 5 
and also has 5 as a digit?  
 
1. 10.   2. 11 
 
3.12   4.20 
 
49. The number of seconds in of an 
11/18  hour is:  
 
1.2100   2. 2200 
 
3. 2000  4.2300 
 
50. The number of 3's that are 
preceded by 5 but not followed by 2 
in the following sequence of digits is 
 
31475 31245 32188 75381 6258 75 31 
675 324 
 
1.7   2.5 
 
3.4    4.6 
 
51. 1 minute 48 seconds in the 
percentage of 1 hour is represented 
by  
 
1.5%   2.2%  
 
3.3%   4.4% 
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53. A man sold two articles for 
Rs.1200 each. In one, he gained 20% 
and in the other, he lost 20%. His 
total loss was: 
 
1. Rs.400   2. Rs.300 
 
3. Rs 200   4. Rs.100 
 
54. The least perfect square number 
which is divisible by 3, 4, 5, 6 and 8 is  
 
1.3600   2.900 
 
3. 1600   4. 2500 
 

55.  HCF of 
𝟏

𝟐
, 
𝟑

𝟒
, 
𝟓

𝟔
, 
𝟕

𝟖
, 
𝟗

𝟏𝟎
 is 

 

1. 
1

120
   2. 

1

2
 

3. 
1

10
   4. 

9

120
 

 
 
 56. The value of 1/5 + 999(494/495) * 
99 
 
1. 90000   2.99000 
 
3.90900   4. 99990 
 

57. 108 ÷ 36 of 1/3 * 2/5 * 3
3

4
is equal to 

? 
 

1. 6
1

4
     2. 8

3

4
  

 

3. 2
1

2
     4. 10

1

2
  

 
58. Which of the following number is 
prime?  
 
1.187    2. 119  
 
3.247    4.331 
 
 

59. 

 
 
1. 125   2. 140 
 
3. 155   4. 170 
 
60. Which of the following are in 
ascending order? 
 
1.5/7,9/11,7/8 2. 5/7, 7/8,9/11 
 
3. 7/8,5/7,9/11 4. 9/11,7/8,5/7 
 
 
61.  

 
 
 
62. Mean is 35 and the Median is 42. 
The Mode is: 
 
1.46    2.56  
 
3.36    4.66  
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63. The range of the data 31, 74, 26, 
84, 19, 39, 98 
 
1.89   2.79 
 
3.62   4.72 
 
64. If x% of 27.5 is 110, then x is 
equal to: 
 
1. 4   2.40 
 
3. 400   4.4000 
 
65. Which is rationalizing factors of 

the denominators of 
𝟏

√𝟖
 

 
1 √5   2. √2  
 
3. √3    4 √6  
 
66. The next number of the sequence: 
5, 25, 50, 250, 500, ? 
 
1. 2500  2. 1250 
 
3. 1000   4.250 
 

67. 8(2/3) - 16(1/4) + 9(1/2) 
 
1.3   2.5 
 
3. √2   4. √2+√3  
 
68. The mode of the scores 3, 2, 3, 3, 
5,6, 8, 8, 9, 10 is 
 
1.3    2.7  
 
3.8   4.10  
 

69. 10% of 10% of 10% of 1000 is 
 
1.1   2.10 
3. 0.1    4.100 
 
70. If (3a + 7b): (5a - 3b) = 5:3 then the 
values of a:b is 
 
1.9:4    2.4:9  
 
3.3.2    4. 2:3  
 
71. Express a speed of 18 km/hr in 
metre per second is: 
 
1.4   2.5  
 
3.6    4.7 
 
72. HCF of 252, 294 and 3 # 8 is 42, 
what is #?  
 
1.2    2.4  
3.7    4.8 
 
73. If y2+y=12, then y = ? 
 
1.2    2.-1  
 
3.4    4.3 
 
74. Which is the smallest of the 
following ? 
3/4,3/5,3/7,3/8,3/11 
 
1. 3/4   2. 3/7 
 
3. 3/11  4.3/8 
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75.∛𝟏𝟑𝟑𝟏 
 
1. 19   2.16 
 
3.11   4.19 
 
76. Match the following  
 
Name of Base  Found in  
           
A Calcium Hydroxide         1. Lime water 
 
B. Ammonium Hydroxide 2. Soap 
 
C. Sodium Hydroxide  3. Milk of  

Magnesia 
 
D. Magnesium Hydroxide 4. Window  

cleaner 
 
1. A-1, B-4, C-2, D-3 
 
2. A-2, B-4, C-1, D-3 
 
3. A-3, B-2, C-4, D-1 
 
4. A-4, B-3, C-2, D-1 
 
77. Match the following  
List-1    List-II 
 
A. Freon            1. Bleaching 
 
B. Chloroform           2. Antiseptic 
 
C. lodoform            3. Refrigerant 
 
D. Ozone           4. Anaesthetic 
 
1. A-2, B-3, C-4, D-1    
 
2. A-3, B-4, C-2, D-1 

 
3. A-4, B-3, C-1, D-2 
 
4. A-3, B-2, C-1, D-4 
 
78. In LPG gas leakage, which 
substance is used to detect it? 
 
1. Methyl Mercaptan   
 
2. Sulphuric Acid 
 
3. Ethyl Mercaptan 
 
4. None of the above  
 
79. Among the following which pair is 
true. 
 
1. Helium-Generation of low 
temperature. 
 
2. Neon - Treatment of cancer. 
 
3. Radon - Electrical signs.  
 
4. All of the above 
 
80. Which one of the following is a 
naturally occurring polymer? 
 
1. Starch  2. PVC 
 
3. Neoprene   4. Nylon 
 
81. Which of the following is used in 
oven 
 
1. X-rays  2. Ultraviolet rays 
 
3. Microwaves 4. Radiowaves 
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82. Holography is a technique of  
 
1. Recording a permanent, sharp two 
dimensional black and white or 
multicolour photograph.  
 
2. Recording a permanent three 
dimensional multicolour photograph:  
3. Recording a permanent three 
dimensional black and white 
photograph. 
 
4. Recording a permanent three 
dimensional photograph of a given 
single colour or a multicolour. 
 
83. The sky appears blue because of 
 
1. Atmospheric water vapour 
 
 2. Scattering of light 
 
3. Reflection of sea water 
 
4. Emission of blue wavelength by the 
sun  
 
84. Why are we able to hear short 
wave broadcasts better than long 
wave broadcast?  
 
1. Short waves are more energetic than 
long waves. 
 
2. Short waves are unaffected by 
atmospheric disturbances 
 
3. Short wave broadcasts are made by 
near by radio stations. 
 

4. By convention, short waves are 
meant for long distances, whereas long 
waves are reserved for short distances. 
 
85. An ice block with a piece of lead 
embeded in it floats in water. If ice 
melts the water level? 
 
1. Rises  2. Falls 
 
3. Remains same 4. Falls first and  

then rises 
86. Galvanization is the 
 
1. Deposition of zinc on iron 
 
2. Deposition of tin on iron  
 
3. Deposition of copper on iron 
 
4. Deposition of Aluminium on iron 
 
87. Gobar gas contains mainly:  
 
1. Methane  2. Ethylene 
 
3. Propylene   4. Acetylene  
 
88. Consider the following 
statements 
 
A. Lymphoid organ produces  
lymphocytes.  
 
B. B lymphocytes are concerned with 
cellular immunity.  
 
C. T lymphocytes are concerned with 
humoral immunity. 
 
Which of the above are incorrect? 
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1. A & B   2. B & C 
 
3. A & C   4. C only 
 
89. Which is the effect of antigen in 
an ill person? 
 
1. It increases the production of WBC. 
(White Blood Cells) 
 
2. It increasess the production of 
antibiotics  
 
3. It increases the production of 
antiserum against bacteria. 
 
4. It prevents the growth of bacteria.  
 
 
 
 
90. Rod shaped bacteria is called  
 
1. Bacillus  2. Spirillum 
 
3. Coccus   4. Coma 
 
91. According to WHO, the bird flue 
virus cannot be transmitted through 
food cooked beyond? 
 
1. 60 degrees Celsius 
 
2. 70 degrees celsius 
 
3. 90 degrees celsius  
 
4. 100 degrees celsius  
 
92. Tetanus is caused by 
 
1. Clostridium tetani  2. arbo Virus 

3. Clastridium  4. Salmonlla 
 
93. Vitamin E is particularly important 
for 
 
1. Development of teeth  
 
2. Carbohydrate metabolism 
 
3. Normal activity of sex glands 
 
4. General health of epithelia tissues  
 
94. Initially the space research 
carried out by 
 
1. Department of Space 
 
2. Department of Atomic Energy 
 
3. INCOSPAR 
 
4. Antrix Corporation Limited  
 
95. The fourth stage of PSLV 
consumes the fuel. 
 
1. Hydraxyl Terminated Poly Butadine 
(HTTB) 
 
2. Un-Symmetrical Dimethyle Hydrazine 
(UDMH)  
 
3. Mono Methyl Hydrazine (MMH) 
 
4. 2 and 3 
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96. Which of the following is an 
exclusive Meteorological Satellite.  
 
1. Cartosat-2 
 
2. Kalpana - 1 
 
3. Resource Sat-2A  
 
4. SARAC 
 
97. Match the following. 
 
List-1   List-II 
 
A. HWP Thal  1. Rajasthan 
 
B. HWP Hazira 2. Odisha  
 
C. HWP Kota  3 Gujarath 
 
D. HWP Taleher  4. Maharashtra  
 
1. A-4, B-2. C-1, D3  
 
2. A-4, B-2, C3, D-1 
 
3. A-4, B-3, C1, D-2  
 
4. A4, B-3, C2, D-1 
 
98. INS Astradharani is a  
 
1. Torpedo Recovery Vehicle 
 
2 Fleet Tanker 
 
3. Destroyer  
 
4 Corvette 
 
99. Match the following 

 
Communication   Invertor 
Network 
 
A World Wide Web       1. Thomas 

marill,Lawrence   
Ca  

 
B. Eathernet         2.JCR hek lider 
 
C. Wide Area Network    3. Robert 

Metcalfe  
 
D. Intergalactic         4. Tim Berners 
Computer Network 
 
1. A-4, B-2, C-1, D-3  
 
2. A-4, B2, C3, D-1  
 
3. A-4, B-3, C-1, D-2 
 
4. A-4, B-3, C-2, D-1 
 
100. Super Computers worked on the 
basis of 
 
1. Linera Computing  
 
2. Artificial intelligence: 
 
3. Parallel Computing 
 
4. Super Computers 
 
101. Match the following 
 
List-I   List-II 
 
A. Mesolithic     1. Primitive food  

     collecting stage 
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B. Early and Middle     2. Advanced food 
Palaeolithic        collecting stage  
 
C. Early Neolithic       3. Settled village  

        communities 
 
D. Advanced  
Neolithic / Chalcolithic 
 
        4. Transition to       

incipient food 
production 

 
 
 
1. A-2, B-1, C-3, D-4  
 
2. A-2, B-4, C-1, D-3 
 
3. A-2, B-3, C-4, D-1 
 
4. A-2, B-1, C-4, D-3. 
 
 
102. Match the Harappan sites and 
their location: 
 
List-I     List-II 
 
A. Ropar         1. Gujarat  
   
B. Alamgirpur        2. Uttar Pradesh            
 
C. Kalibangan       3. Rajasthan 
           
D. Banwali        4. Haryana 
 
                                       5. Punjab 
1. A-5, B-2, C-1, D-3 
 
2. A-5, B-2, C-3, D-4 
 

3. A-4, B-2, C-3, D-5  
 
4. A-5, B-4, C-3, D-1 
 
103. Which among the following 
Vedas is regarded as a non-Aryan 
work?  
 
1. Rig-Veda  2. Yajur Veda 
 
3. Artharva Veda  4. Sama Veda 
 
104. Buddism does not beleive in : 
 
A. karma 
 
B. Rebirth  
 
C. Transmigration of Souls 
 
D. Divinigy of gods 
 
E. Authority of Vedas 
 
1. A, B and C  2. B, C and E 
 
3. C, D and E 4. All of the above 
 
105. The founder of the first large 
empire in india was 
 
1 Dhana Nanda 
 
2. Chandragupta Maurya  
 
3. Ashoka 
 
4. Samudragupta 
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106 Tolkkapplyam of the second 
sangam deals with: 
 
1. Poetry    
 
2. Grammer 
 
3. The hestoric deed of the Pandyan 
 
4. The legend of Agastya  
 
107. Match the schools of Philosophy 
with their propounders:  
 
List-1   List-II 
 
A. Nyaya   1. Kunda 
 
B. Vaisheshika 2. Gautama 
 
C. Purva Mimamsa 3. Badrayana 
 
D. Utta Mimansa  4. Jaimini 
 
1 A-1, B2, C-3, D4 
 
2. A-2, B-1, C4, D-3 
 
3. A-4, B-3, C-2, D-1  
 
4. A-1, B-2, C-4, D-3 
 
108. Which Lodi Sultan has been 
charged of bigotry in religious 
affairs? 
 
1. Bahulal Lodi 2. Sikandar Lodi 
 
3. Ibrahim Lodi  4. Mubarak Shah  

Lodi 
 

108. Put the conquests of Babur in 
India in Chronological order: 
 
A. Capture of Lahore  
 
B. Battle of Panipat 
 
C. Battle of Khanua  
 
D. Battle of Chanderi 
 
E. Battle of Ghagra 
 
1. A, B, C, D, E 2. B, A, D, C, E 
 
3. E, B, C, A, D  4. A, C, B, E, D 
 
110. What was Shivaji's greatest 
achievement? 
 
1. He checked the spread of Islam.  
 
2. He welded together the Maratha race. 
 
3. Guerilla warfare was popularised by 
him. 
 
4. All of the above  
 
111. The Treaty Bassein was signed 
in 1802 between the British and 
 
1. Baji Rao II  
 
2. Narayan Rao 
 
3. Balaji Vishwanath  
 
4. Madhar Rao 
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112. Who is the Author of Massir-i-
Alamgiri?  
 
1. Faizi   2. Abul Fazal  
 
3. Mustaid Khan 4. Nasiri 
 
113. The Battle of led to the 
establishment of British Supremacy 
in India. 
 
1. Plassey  2. Buxar 
 
3. Wandiwash 4. Panipat  
 
114. Warren Hastings shifted the 
treasury from Murshidabad to:  
 
1. Calcutta  2. Dacca 
 
3. Malda  4. Patna 
 
115. Match the leaders of the Revolt 
of 1857 with the area of their 
operation: 
Leader   Area 
 
A. Bakht Khan 1. Delhi Mahal  
 
B. Begum Hazart 2. Bihar 
 
C. Kunwar Singh  3. Kanpur 
 
D. Khan Bahadur  4. Bundelkhand 
Khan 
 
1. A-1, B-3, C-2, D-4 
 
2. A-2, B-3, C-4, D-1  
 
3. A-4, B-3, C-2, D-4  
 

4. A-1, B-2, C-3, D-4 
 
116. The Aligarh Muslim University 
founded by Sir Sayyid Ahmad khan in 
1875, was earlier known as: 
 
1. Aligarh University for Muslims 
 
2. Muslim University 
 
3. Sir Sayyid Ahmad Khan University 
 
4. Anglo-Mahammedan Oriental College 
 
117. Which one of the following may 
be regarded as the first labour 
association in India?  
 
1. The Bombay Worker's Association 
 
2. The Bombay Millhand's Association  
 
3. The Indian Workers Union 
 
4. The Printers Union, Calcutta  
 
118. LT. Ayerst was murdered by: 
 
A. Chandr Shekar Azad  
 
B. Bhagat Singh 
 
C. Damodar  
 
D. Ramprasad Bismil 
 
E. Balakrishna 
 
1. A, B, C and D  2. B and C 
 
3. C and D  4. C and E 
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119. The Cripps mission's Draft 
Declaration was:  
 
1. Welcomed by all parties 
 
2. Welcomed by Congress but criticised 
by Muslim League  
 
3. Welcomed by Muslim League and 
Congress but criticised by Hindu 
Mahasabha 
 
4. Criticised by all Parties  
 
120. Who succeeded Lord Linlithgow 
as the Governor-General of India. 
 
1. Lord Willian Bentinck  
 
2. Lord Dufferin 
 
3. Lord Wavell 
 
4. Lord Ellenbrough 
 
121. Who spoke the following words 
"The condition of India's loyality is 
India's freedom"? 
 
1. Motilal Nehru 2. Jawaharlal Nehru  
 
3. Aurobindo Ghosh   4. Annie Besant 
 
122. Consider the following pairs: 
 
Architecture   Location  
 
A. Kadam Rasul Mosque  :   Gaur 
 
B. Gol Gumbaz   :  Bijapur 
 
C. Chand Minar  : Gulbarga 

Which of the above pairs is/are 
correctly matched? 
 
1. A only  2. A and B only  
 
3. C only  4. A, B and C 
 
123. Which of the following dances 
do Pandanallur and Thanjavur styles 
belong to? 
 
1. Kuchipudi  2. Bharatanatyam 
 
3. Kathakali   4. Odissi 
 
124. Sattriya is a classical dance form 
of which state? 
 
1. Assam   2. Kerala 
 
3. Punjab  4. Bengal 
 
 
125. In which of the following 
festivals are boat races a special 
feature?  
 
1. Pongal  2. Navratri 
 
3. Rongali Bihu  4. Onam 
 
126. The mountain range which 
stretches from Gujarat in west to 
Delhi in the north is the: 
 
1. Aravallis   2. Vindhyas  
 
3. Satpuras  4. Kaimur range 
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127. Aravalli ranges are an example 
of 
 
1. Straight mountains   
 
2. Block mountains  
 
3. Residual mountains 
 
4. Volcanic mountains  
 
128. Which of the following passes 
and locations is wrongly matched? 
 
1. Zojila and Burzil - Jammu & Kashmir 
 
2. Bara Lapcha La and Shipki La 
Himachal Pradesh  
 
3. Thaga La, Niti Pass and Lipu Lekh 
Uttar Pradesh 
 
4. Nathu La and Jelep La-Sikkim 
 
129. Which of the following are true 
with respect to the Indian Peninsular 
Plateau? 
 
A. The southern plateau block is formed 
mainly of granites and gneiss 
 
B. The Deccan lava plateau is an 
elevated table land consisting of 
horizontally arranged lava sheets  
 
C. The Malwa plateau dominates the 
Vindhyan scarps forming the northern 
flank of the plateau  
 
D. The troughs of the Narmada and the 
Tapti are interposed between the 
Vindhyan and the Satpura ranges.  

1. A and B only 2. C and D only 
 
3. A, B and C only  4. A, B, C and D 
 
130. Which of the following is the 
main difference between the Western 
and Eastern Ghats?  
 
1. Height     2. Continuity 
 
3. Proximity to the coast     4. Vegetation 
 
131. Arrange the following hill ranges 
in order from North to South: 
 
A. Nallamala Hills        B. Nilgiri 
 
C. Anaimalai      D. Cardamon Hills 
 
1. A-B-C-D  2. A-C-B-D 
 
3. A-B-D-C  4. A-D-C-B  
 
132. Arrange the following Himalayan 
peaks in order as they occur from 
West to East: 
 
A. Kanchenjunga  B. Mt. Everest  
 
C. Nanda Devi D. Dhaulagiri 
 
1. A-B-C-D  2. A-C-D-B 
 
3. C-D-B-A   4. C-D-A-B  
 
133. Which one of the following 
States in India has the broadest 
continental shelf? 
 
1. Andhra Pradesh  2. Gujarat 
 
3. Karnataka   4. Tamil Nadu 
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134. Match the following: 
 
A. Bhabar 1. Younger alluvium 
 
B. Terai 2. It is very porous 
 
C. Bhangar 3. Has thick forest and 

wild life 
 
D. Khadar 4. Older alluvium 
 
1. A-1, B-2, C-3, D-4  
 
2. A-2, B-3, C-4, D-1 
 
3. A-2, B-3, C-1, D-4 
 
4. A-1, B-2, C-4, D-3  
 
135. What do you understand by the 
term 'Doab'? 
 
1. Where the delta of river begins  
 
2. Where two or more rivers meet 
 
3. Land between two separate river 
systems  
 
4. Land between two tributaries of a 
river 
 
136 Consider the following statement 
with regard to "Valley of 
Kashmir"("Vale of Kashmir), 
 
A. The valley is bounded on the 
southwest by the Pir Panjal Range and 
on the northeast by the main Himalayan 
range, 
 

B. It is approximately 135 km long and 
32 km wide and 1,620 meters high and 
drained by the Jhelum River 
 
C. The valley was the resort of Mughal 
emperors, notably Jahangir, who 
reigned in the early 17th century and 
constructed picturesque gardens and 
buildings in the vale for his empress, 
Nur Jahan  
 
Select the correct statement/s 
 
1. A only  2. B only 
 
3. C only   4. A, B and C 
 
137. Match the following: 
 
Valley   State 
 
A. Drukou Valley    1. Himachal Pradesh  
 
B. Yumthang Valley 2. Sikkim 
 
C. Neora Valley 3. Nagaland 
 
D. Sangla Valley      4. West Bengal  
 
1. A-1, B-2, C-4, D-3  
 
2. A-1, B-4, C-2, D-3 
 
3. A-3, B-2, C-4, D-1  
 
4. A-3, B-4, C-2, D-1 
 
138. Match the following: 
 
A.Govt. of India Act,1919         1. Provincial  

autonomy  
 
B. Govt. of India Act, 1935 2. Separate  
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Electorate 
 
C. Minto-Morley Reforma  3. Dyarchy  
 
D. Cabinet Mission Plan  4. Constituent  

Assembly 

 
1 A-1, B-2, C-3, D-4  
 
2. A-2, B-4, C-3, D-1  
 
3. A-4, B-1, C-3, D-2  
 
4. A-3, B-1, C-2, D-4  
 
 
139. The amendment procedure laid 
down in the Constitution of India is 
on the pattern of? 
 
1. Government of India Act, 1935 
 
2. Government of India Act, 1947 
 
3. Constitution of South Africa  
 
4. Constitution of UK 
 
140. The first session of the 
Constituent Assembly on 9th 
December 1946 with Dr. Sachchida 
nanda Sinha as the first president of 
the Constituent Assembly was held 
at?  
 
1. Bombay  2. Calcutta 
 
3. Lahore  4. New Delhi 
 
141. The Constitution of India divided 
the states of India in categories A. B. 
C. and D in the year 1950. In this 

context which of the following 
statements is correct? 
 
1. The Chief Commissioner was the 
executive head of category A states. 
The Rajpramukh was the executive 
head of category B states. The 
Governor was the executive head of 
categories C and D states. 
 
2. The Pajpramukh was the executive 
head of category A states. The Chief 
Commissioner was the executive head 
of categories B and C states. The 
Governor was the executive head of the 
category D states. 
 
3. The Governor was the executive 
head of category A states. The 
Rajpramukh was the executive head of 
category B states. The Chief 
Commissioner was the executive head 
of categories C and D states. 
 
4. The Governor was the executive 
head of category A states. The Chief 
Commissioner was the executive head 
of category B states. The Rajpramukh 
was the executive head of categories C 
and D states.  
 
142. The Constitution of India was 
promulgated on January 26, 1950 
because: 
 
1. This day was being celebrated as the 
Independence Day since 1929  
 
2. It was the wish of the framers of the 
Constitution  
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3. The British did not want to leave India 
earlier than this date  
 
4. It was an auspicious day  
 
143. The idea of the Constitution of 
India was first of all given by : 
 
1. Mahatma Gandhi  
 
2. Dr. B.R. Ambedkar 
 
3. Jawaharlal Nehru  
 
4. M.N. Roy  
 
144. Which one of the following made 
the India Legislature bicameral?  
 
1. Indian Councils Act, 1909 
 
2. Government of India Act, 1919 
 
3. Government of India Act, 1935  
 
4. Indian Independence Act, 1947 
 
145. The Constitution of India 
borrowed the scheme of Indian 
Federation from the Constitution of? 
 
1. USA  2. Canada 
 
3. Ireland  4. UK 
 
146. The inspiration of Liberty, 
Equality and Fraternity' was derived 
from: 
 
1. American revolution  
 
2. French revolution  

3. Russian revolution 
 
4. None of the above 
 
147. Indian President and Prime 
Minister are a replica of the heads of 
the State of which country? 
 
1. Britain   2. USA 
 
3. Ireland  4. Russia 
 
 
 
148. Which of the following describes 
India as a Secular State?  
 
1. Fundamental Rights 
 
2. Ninth Schedule 
 
3. Directive Principles  
 
4. Preamble to the Constitution 
 
149. Put in chronological order the 
following Special features/objectives 
of different Five Year Plans as they 
were first formulated:  
 
A. Mahalanobis strategy 
 
B. Modernisation 
 
C. Removal of Poverty  
 
D. Emphasis on employment generation 
 
1. A-B-C-D   2. A-C-B-D 
 
3. A-D-C-B   4. A-B-D-C 
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150. Which of the following mints 
undertakes refining of gold for 
licensed gold dealers and production 
of medals for defence services? 
 
1. The Kolkata Mint  
 
2. The Hyderabad Mint  
 
3. The Mumbai Mint 
 
4. None of the above 
 
151. Rising prices lead to all but one 
of the following: 
 
1. Adverse effect on speculation  
 
2. Adverse effect on balance of 
payments 
 
3. Generation of black money 
 
4. Promotion of inequalities  
 
152. Fiscal deficit' in the Union 
Budget means: 
 
1. The sum of budgetary deficit and net 
increase in internal and external 
borrowings 
 
2. The sum of monetised deficit and 
budgetary deficit 
 
3. The difference between current 
expenditure and current revenue  
 
4. Net increase in Union Government's 
borrowings from the Reserve Bank of 
India 
 

153. The situation with increasing 
unemployment and inflation is 
termed as:  
 
1. Galloping inflation  2. Hyperinflation 
 
3. Reflation    4. Stagflation 
 
154. Who is the originator of Green 
Revolution in India? 
 
1. M.S. Swaminathan  
 
2. Garry Backer 
 
3. Norman E. Borlaug 
 
4. None of these 
 
155. Consider the following actions 
which Government can take: 
 
A. Devaluing the domestic currency.  
 
B. Reduction in the export subsidy. 
 
C. Adopting suitable policies which 
attract greater FDI and more funds from 
FIIs. 
 
Which of the above action/actions 
can help in reducing the current 
account deficit? 
 
1. A and B only  2. B and C only  
 
3. A and C only 4. A, B and C 
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156. The Securities and Exchange 
Board of India (SEBI) has been set up 
to: 
 
A. Protect the interests of investors. 
 
B. To regulate the activities of brokers in 
the stock market.  
 
C. To ensure transparency in operation 
in the stock market.  
 
D. To encourage a healthy growth of the 
stock market.  
 
1. A and B only 2. C and D only 
 
3. A, B and C only 4. A, B, C and D 
 
157. Among the causes of inflation 
can be listed: 
 
A. Slow growth in agricultural output  
 
B. Increasing non-development 
expenditure of Government 
 
C. Rapid population growth 
 
D. Rapid growth in costly imports  
 
1. A and B only 
 
2. C and D only 
 
3. A and C only 
 
4. A, B, C and D 
 
158. Under the Constitution, the 
power to raise and disburse public 
funds:  

1. Has not been given to anyone 
 
2. Has been given to the finance 
commission 
 
3. Has been vested in union government 
 
4. Has been divided between the union 
and state governments 
 
159. In the context of Indian 
economy, consider the following 
statements:  
 
A. The growth rate of GDP has steadily 
increased in the last five years. 
 
B. The growth rate in per capita income 
has steadily increased in the last five 
years. 
 
Which of the statements given above 
is/are correct? 
 
1. A only  2. B only 
 
3. Both A and B 4. Neither A nor B 
 
160. In the last one decade, which 
one among the following sectors has 
attracted the highest Foreign Direct 
Investment inflows into India? 
 
1. Food processing  
 
2. Services sector 
 
3. Telecommunication 
 
4. Chemicals other than fertilizers 
 



 Police Constable Preliminary Exam 2022  
   MODEL PAPER 6   

 
 

161. Which organization has released 
the World Investment Report 2021?  
 
1. UNCTAD  2. WTO 
 
3. IMF   4. World Bank 
 
 
 
 
162. Which state is set to form an 
economic advisory council 
composed of Esther Duflo and 
Raghuram Rajan?  
 
1. Tamil Nadu 2. Kerala 
 
3. West Bengal  4. Andhra Pradesh 
 
163. Which Union Ministry is set to 
launch Jaan Hai to Jahaan Hai'COVID 
vaccination awareness campaign?  
 
1. Health Ministry 
 
2. Rural Development Ministry  
 
3. Minority Affairs Ministry 
 
4. Social Justice Ministry 
 
164. CSS, a new software released by 
the Union Health Ministry, stands 
for? 
 
1. Coronavirus Science Software 
 
2. COVID Severity Score 
 
3. COVID Serious Score 
 
4. COVID Scientific Score  

165. What is the theme of the 
International Day of Yoga 2021? 
 
1. Yoga and Science 
 
2. Yoga amid COVID 
 
3. Yoga for Wellness  
 
4. Yoga for World  
 
166. Which water body is also called 
the Gulf of Berbera?  
 
1. Gulf of Mannar  2. Gulf of Aden  
 
3. Palk Strait  4. Rann of Kutch 
 
167. Who was the first Indian to win 
individual gold medal at the 
Commonwealth Games? 
 
1.PTUsha  2 Milkha Singh 
 
3. Dhyan Chand 4 Paan Singh tomar 
 
168. What is the Government's target 
to reduce road accident deaths by 
year 2024? 
 
1.20%   2. 25%  
 
3.50%   4. 75% 
 
169. India intends to achieve land 
degradation neutral status by which 
year? 
 
1.2030  2 2035 
 
3. 2037   4.2040  
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170. Which country is the largest 
producer of bananas in the world?  
 
1. USA   2. Ecuador  
 
3. India   4. South Africa 
 
 
171. Present how many Ryths Bazar's 
are there in Telangana state.  
 
1.43   2.64 
 
3.52   4.67 
 
172. Which district is first place in 
Gross, sown area in Telangana 
 
1. Nalgonda   2. Suryapet 
 
3. Mahaboob Nagar 4. Khammam 
 
173. Where is the Tupakula gudem 
barrage in Telangana state? 
 
1. Nagar Kurnool 
 
2. Mahaboob Nagar 
 
3. Mulugu  
 
4. Narayanpeta  
 
174. Which among the following tribe 
is believed to live in Telangana in the 
Pre-historic Period? 
 
1. Negritos   2. Astraloids 
 
3. Dravidians  4. All the above 
 

175. Which among the following 
inscriptions contains pure Telugu 
Language?  
 
1. Aga Motkur 2. Phanigiri 
 
3. Palmpet   4. Vilasa 
 
176. The book which informs about 
the marriage of Hala? 
 
1. Leclavati  2. Si-yu-ki 
 
3. Sathasamhita 4. Gargi Samhita 
 
177. The contemporary kingdoms of 
Mudigonda Chalukyas. 
 
1. Vemulawada Chalukyas 2. Kakatiyas 
 
3. Viriyala rulers 4. All the above  
 
178. Which of the following was 
constructed by Abdullah Qutub shah 
in the name of his mother? 
 
1. Hyderabad 2. Charminar 
 
3. Hayatnagar 4. Hussain sagar 
 
179. The leader of Ittehad-ul-
muslimeen 
 
1. Khasim Razvi 2. Nizam Ali Khan  
 
3, Safdar jung 4. Peshkar 
 
180. How many mandals in Telangana 
State? 
 
1.580    2.583 
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3.593   4.599 
 
181. Who established Adi Hindu 
library? 
 
1. Bhagya Reddy Varma 2. ML. Adeyya 
 
3. B.S. Venkatrao         4. J.S. Muttaiah 
 
182. Match the following 
 
Andhra Maha  President 
Sabha Place 
 
 
A. Jogipet  1. Suravaram  

     Pratapa Reddy 
 
B. Devarakonda  2. Burgula  

   Ramakrishna Rao 
 
C. Khammam 3. Pulijala Venkata  

Ranga Rao  
 
D. Siricilla   4. Madapati  

    Hanumantha Rao 
 
1 A-1, B-2, C-3, D-4  
 
2. A-4, B-3, C-2, D-1  
 
3. A-2, B-1, C-4, D-3 
 
4. A-3, B-4, G-1, D-2 
 
183. How many complaints got she 
teams from January 1, 2019 to 
December 31, 2020? 
 
1. 16,095   2. 17,095 
 
3. 18,095  4. 19,095 

184. On which date Telangana armed 
struggle was withdrawn?  
 
1. 21 October, 1949 
 
2.21 October, 1950 
 
3. 21 October, 1951  
 
4. 21st October, 1948  
 
185. M.K. Vellody, who appointed as 
civil administrator for Hyderabad 
state, was on I.A.S after of which 
state? 
 
1. Tamil Nadu 2. Kerala 
 
3. Maharashtra 4. Karnataka 
 
186. How many revenue divisions in 
Telangana State? 
 
1.70   2.74 
 
3.75   4.77 
 
187. Which one is true among the 
following about Telangana Martyrs 
statue. 
 
1. The bottom of the statue was made 
with Red stone.  
 
2. Each of the four sides of the statue 
has 13 holes 
 
3. Top of it has a jasmine flower with 
nine petals which is the symbol of 
sacrifice 
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4. Flowers on the four sides of the 
statue are tributes to the martyrs.  
 
188. Rebel Telangana Praja samiti 
President was 
 
1. Sreedhar Reddy 2. Raghava Reddy  
 
3. Konidela            4. Marri channa Reddy 

 
189. Match the following 
 
A. Adudam dappulla dharuveyyara    1. Mithra  
 
B. Rajyahimsa Peruguthunnado         2. Goreti  

        venkanna 
 
C. Telangana  inchchetanduku  
    Enni  Committeelestaro        3. Yaspal 
 
D. Amma choodamma bayalelli-  

      4. Komari  
 naado godaramma       

   Venkanna 

1. A-4, B-3, C-2, D-1  
 
2. A-1, B-4, C-3, D-2 
 
3. A-1, B-2, C-3, D-4  
 
4. A-3, B-4, C-1, D-2 
 
190. Among the following correct pair 
is  
 
1. Gollagattu Jatara - Nalgonda District 
 
2. Kondagattu Jatara-Jagityala District 
 
3. Velala Jatara-Siddipet District 
4. Bejjanki Jatara - Manchiryal District  
 
 
 

191. How many times per capital 
Income of Telangana was higher than 
National Average in 2020-21? 
 
1. 1.28  2. 1.39 
 
3.1.78   4. 1.58  
 
192. What percentage of Industrial 
growth slow down in 2020-217 
 
1. 4.7%   2. 3.6%  
 
3.5.6%  4. 2.8% 
 
193. Which sector has highest share 
in GSVA since formation of state?  
 
1. cotton  2. MSME 
 
3. Banking  4. Service 
 
194. The meeting was held in 
suryapet on 11th August 1997, wih 
the name 
 
1. Dhoka tinna Telangana  
 
2. Dagapadda Telangana 
 
3. Separate Telangana 
 
4. None of the above  
 
195. Match the following 
 
Telangana Udyama  Place  
Vedika                (Old Districts) 
 
A. Telangana Chaitanya         1.MahabubNagar 
     Vedika  
 
B. Telangana Udyama             2. Nalgonda 
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     Vedika 
 
C. Telangana Porata Vedika     3. Ranga Reddy 
 
 
D. Telangana Praja Vedika  4. Medak 

 
1. A-1, B-2, C-3, D-4 
2. A-4, B-3, C-2, D-1 
3. A-4, B-1, C-2, D-3  
4. A-2, B-1, C-3, D-4  
 
196. Leaders who were attended the 
T.R.S first anniversary meeting 
 
1. Shibusoren 2. Ajit Singh 
 
3. Bheem Singh 4. All of the above 
 
197. How many crores distributed 
from April, 2020 to February 2021 
through general service centres? 
 
1. 145 crores  2, 155 crores 
 
3. 165 crores  4. 175 crores 

 
198. How much money was 
transferred to 59.3 lakh farmers by 
central Government in 2020-21? 
 
1. Rs.13, 651 crores  
 
2. Rs.14,651 crores 
 
3. Rs.15,561 crores 
 
4. None of the above 
 
199. Match the following 
 
A. Palle Palle Pattala  
Paiki         1. 1 March 2011 
 
B. Million March           2. 30 September  

2012 
 
C. Telangana March    3. 10 March 2011 
 
D. Sadak Bandh          4. 21 March 2013

1. A-1, B-2, C-3, D-4  
 
2. A-1, B-3, C-2, D-4 
 
3. A-4, B-1, C-2, D-3  
 
4. A-1, B-2, C-4, D-3 
 
 
200. How much money invested in 
3005  units of TS IPASS of Telangana 
in 2020? 
 
1. 18,667 crores 2. 30,667 crores 
 
3. 24,667 crores 4. 28,667 crores 
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